2HBE =S £1598 L B X
i & e |[HEmNR0ELZ (BEF)
B B  |AE BE tAUFREE
B E 5 [BEEAOTE
B O m i 270.36m  [81. /8tE) o
. 148 75m  [458L)
SE~RER (1F 85.28mi. 2F 63.47ni) B
TR 8 0 FH
B H 5 A
Mt & 9 A LR
N [F&] 2m
BRIZH-YHBEEHEYEGIEHREH LA AR
z O mALET, ‘ ‘ s
¥ R EIE |AF. BEO. KEY. KEBLEETEENBRET |

FRREERTOME

FAL GER)

(BHER/NMESR)

1/3R=2




2BEFHED Al DREER

e

L.

4

AR R

—

Y .

BIITHRA b

BoiE X

CSYERLUREEBICHY . OEANATHERREIUANRESIEFHLZD
RREELEIENTEET,

- BRAMNELNGIGEFITY DT, BIzHDFE
EREUALHNMELEEEBILEZVAIC
BITITHTY,

- HPEREOESEI THo=EETH Y.
LEOEEARLONET,

- BigE TEAXE] NEORITY,

Bl E
[1F) I
— — ( :
T Fﬂﬁ N
- H | FEQ | HE®
(6) (8) -
1 1 f .
: ' 11sF8 TS R AF ] MEERE F N
: [~ (6) |l (8)
TE o1 =D MZEQ
= (8) (6)
HE=e o A A
LJI : %Iﬁ
— miE
— L ; |
kA = —
: , (%E‘ mA] (A
,,,,,, MEG
s & - BN (6)
FAL
@ [:] T &
RAS—2%
[E&iEIKiR]
3 = SAE 5] = HAKKE 5
7K B SAE kA4 L Kk FER
T K & RAEY K N7 TH+ [TO2VeRRE
) 3 TONUAR 1vh-%y b BEBE (AR3ATE - MARKLE)

2 /3 R=Y




Zr HEMLLET 7. 7kn =8 (RAET) HEXE 8 Tkn
JRER FFEER 8. Okn BED HAEBHER 0. 25K
RAE INESZE 0 03km Z—/— A< — FRJIEE 7. Tkm
5k - EREE  |EAERE 7 6kn SUF- - BERE |HEEAEBO. 05kn
INETR = A ENER 12 2kn B3 L FEER 7. Tk
REE - YR Wik Z 5 WA REBE 8. 3km FE A% SAE<Houns Lysgamn 11.8km
HER S AECSELTLNES 8 Tk | Z0OMHkE D UTE SR 11, 6kn
O%1 > TH =L ibiEiER
R MR, B - B ORISR E L T ET .
BEREJ RIFERT. EEI2H5EEL - BIIBCAYETHINDE S BIS
HUET,
-  ROH00A. H50HETHR SN TOBEET. 46 TEAE] £/%.
T BEZDBEIENFNES, 5ASHDLEEA R FABESNEDNET,
7 . TEAE] OBISEKLTND (555 LEK] &, BELI—E—. KEYLET
BLECLANTE, OLEYARENEFHETT,
C TR (5ETE) | EREN I 00EUEOROARLHY . TOREEST
1B —#4l; EEOHLESEFVNET,
10 Be 2HEOSMERT. EHOEED
EEGEERDET
58 BAELRE o< MG EEMEL.
FE- A~V F EEEHTCRFEED R
i‘g—o
1A BA%. SETRALHFT. EvRE
BEDHILELET,
ARAE
$¥§£muiﬁﬁ:51:54—§mmuru$¢°
N CIMERD E £ ER
i TEB LT HFEENE L LA, &l (BAE) . AXLEEN LERYBAET>T
WBEKE g
- BAEEET 32
FCEUEOBBEFL. B LTELUATESLSEHLTLET,
-fHEHEYEEE 12, 000 HIEE
M=% X4 BRIZ 4 1 THA
 EEAECERENESNESENLET.
Z 0t CE< OWHIZREHBOLZEL EABE LTOVETH. BALSFAT 5 ILHOLES
FEETRET 5L AR CAEONET.

[AMSELA20E8 HEFR

3/ 3 R=Y




